Model Question Paper
Class-XII (SOS) (Session:2020-21)

Subject-Accountancy

Time Allowed : 3 hrs Maximum Marks : 80

1. ST IT-YRAH & &1 T & IR 9% IR Ky ™ 99 & g9
wHifts stava foad |
You must write question-paper series in the circle at the top left side of
the little page of your answer-book.

2. U9 I i Y G 1 Tgfaehedid YR o § Sl R e T A g W ¥
First question of question paper is multiple choice from Part A and
Part-B.

3. 1T STR-IRTeR § et T=/9 | Bifeu |
Do not leave blank page/pages in your answer book.

4. U9 99 T S AR H S T R 7 99 o | SE 9l % g sifrerd
gl

Question paper is divided into two parts Part-A and Part-B.All the
questions of both parts are compulsory.

5. SR Ofarad UE Sl & STEY e e
Answers should be brief and according to the marks alloted.

1. Multiple Choice Questions:
() ST @ -
() A @ (ii) ST fersh Qa1
(i) TETEAlaE @ (iv) Tehs @Mt 1
Income and Expenditure a/c is
9

TT



(i)

(iif)

(iv)

(i) Personal a/c (ii) Real a/c

(i) Nominal a/c (iv) Cash a/c

YTt O ST HT TOMAT TRE R Y S §2

(i) vfiss it (ii) sfr=a g

(i) et gSH (iv) ST~ it SATET0T HH HLeh 1
Interest on capital is calculated on the

(i) Opening capital (ii) Average capital

(iii) Closing capital (iv) Closing capital less drawings
T ST TiERr § HiEER g 9 8-

(i) 10 ¥ Aferm &t (ii) 50 ¥ i

(i) 20 T sfeeR &l (iv) =7E oft Te=m 1

A banking partnership firm may have:
(i) Notmore than 10 partners
(ii) Not more than 50 partners
(ii1) Not more than 20 partners
(iv) Any number of partners

TSR Tl % A9 § T WieaR g % i T 72 0 ™
EIEREEiE il

(i) 10% Hfqad (ii) 9% Ffaad

(i) 6% Hfdead (iv) 5% faad 1
In the absence of partnership dead, internal will be given or
partner's loan

@) 10% per annum (i1) 9% per annum

(iii) 6% per annum (iv) 5% per annum
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(v) TART ST (R SIRAGR hI) SR S 2 |
() STHICSGMA (i) T ST ST
(i) STPT G ST F  (iv) T SN ST
The sacrifices of old partners is equal to

(i) Their new share (i1) New share—old share
(i) Their old share (iv) Old share-New share
(vi) STOIYRE W L B
(i) == (ii) e
(iii) HHA (iv) e«
Shareholders get:
(i) Interest (i1) Dividend
(111) Commission (iv) Profit
(vii) SARM Fr=HT 9 A7 i S ERT CF % STER fiar s
(i) 5% (i) 10%
(i) 6% (iv) 12%
Interest on calls-in-advance according to Table F.
i) 5% (ii) 10%
(iii) 6% (iv) 12%
(viii) FoTTER B -
(i) o % @ (ii) TR HFIAT h
(i) FHEA F UEH (iv) weiae
Debenture holders are the:-

(1) Owner of the company
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(i) Creditors ofthe company
(iii) Customers of the company
(iv) Promoters of the company

(ix) f% geit fEar =t §:

(i) iferehd it (if) Feifera it
(i) iy gsit (iv) STa Teft
Share capital is shown as:

(i) Authorised capital (ii) Issued capital
(iii) Subscribed capital (iv) All of the above

(x) T S T ot el S §
() UfFs T s (i) ¥fTeF ST
(i) SR (iv) T1E oft 7T
Liquid Ratio is also know as:-
(1) Acid test ratio (i1) Quick ratio
(iii) Both the above (iv) None of the above
HIT-37 Part-A '
. TR e T
What is Partnership dead?
. TN ST ohi SRS ST |
Explain the sacrifices ratio.
. Afirg =T et 87

‘What is calls in advance?
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. UM ot giged v gigier § | 98 I °18 & o9 # 3000
STTETOT AT | 5% Ffaad i =X 9 99 2020 § T80 T A hi
TOMAT IS | 3

Mr. Ram is a partner is a firm. He draws 3000 in the middle of every
month. Calculate interest on drawing @5%o p.a. for the year 2020.

. gEifeRr e 1 o1 87 3
What is the meaning of preference share?
. o A A Al geenstt i fasvan fafey | 3

Write the characteristics of the Non-profit organisation.

. Tuset 9= ot & Sfraq ol 61 St F91 o g T TAN i AW hi
O hifTu | firesel o= oef bl eny-sTf=ar e off -

2015 10000 (eH) 2016 5000 (TIH)
2017 F12000 (&1f) 2018 F20,000 (&MH)
2019 25000 (¥1Y) 3

Calculate the amount of goodwill at the two years purchases of the last
five years average profit. The profit and loss for the last five years are:

2015 10,000 (Profit) 2016 5,000 (Loss)
2017 12,000 (Loss) 2018 220,000 (Profit)
2019 225,000 (Profit)
. afereRa et o4 B2 2

What do you mean by Authorised capital.
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10. 9T RHUI-TF M B §7 3

1.

12.

What are Redeemable debentures?
31eET/Or
TSIERR T WA 379 Y sie fReel A S 1 v U |

Explain three main differences between Equity shares and presence

shares.
SpU-u3 fifad shed o I o oy fafan 4
Write any three advantages of issuing debentures.

YA/ Or
Tiee den wiem & T fAfaiad oF-39 & SHags it |
F100 & 1,000 BT-T3 Ui 95 W Frifaa qon $110 W gH e

Journalize the following transactions at the of issue and redemption:
1000 debentures of F100 each issued at T95 and sepayble at T110.
BT ht IR ST | 7T Hi2eR & W9 % 9Ad TG 1 ol
F9 foran < 272

What is goowill? How goodwill is recorded at the time of admission of

new partner.

{ar / Or
A,B and C were partners in a firm sharing profit and losses in the ratio
0f2:2:1 and their B/Sheet as at March 31 2015 was as under. 6
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Liabilities Amt. Assests Amt.
Creditors 30,000 Land 85000
Bills Payable 20,000 Building 50,000
Outstanding Exp 25,000 Plant 100,000
General Reserve 50,000 Stock 40,000
Capital Debtors 25000
A 50,000 Cash 5000
B 60,000
C 70000 | 180,000
305000 305000

13.

14,

From 1 April, 2015 the partners decided to share profit in the ratio of
1:2:3. For this purpose it was agreed that:

() The goodwill ofthe firm should be valued at Z60,000.

(i) Building should be depriciated by 6%.

(i) Land should be revalued at 1,00,000

(iv) Creditors amounting to T5,000 were not be paid.

Prepare Revaluation A/C, Capital A/C's of all the partners.

Wi SR P 9 7 = @[ H . =R 87 6
Differentiale between receipt and payment A/c adn Income and ex-
penditure A/c.

39 o 3 100 Y&F & 10000 391 & fow (68 w3 smafad
o3 | STEA T T 20 Sffeie W Z50 T GUH qeN Sifm °i W™ 230
T F | ST A 9000 S & foiw efveE faran aun w1 ofw smeited o
T3 | 9 9= o[ 9T B e fEeE 500 S UE e 991 /i 69 %
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=S H 39 39T W1 Seq L fen A T90 wfa Siw + fews 9 yoiwq
wy H qAfifia o T T s gfafedt s &
Aman Ltd invited application for 10,000 share of 100 each. On ap-
plication Z20 on allotment 50 and on Ist and final call 30. The public
subscribed for 9000 share and these share alloted. All money Due was
duly received except allotment and call money on 500 shar. Subse-
quently these shares were forfeited and Re-issued as fully paid for 90
per share. Pass Journal Entries.

AT/ Or
T Fo9 & 7= fgawel 9 o-=07 @ 3ar Sifse |
Prepare Income and dependiture A/C from the following particulars of
ahostel.
Receipt and Payment a/c for the year added 31Dec 2016.

Receipt Amt | Payments Amt
To Bal b/d 40,000 | By salaries 15000
To subscriptions By Postage 2000
2015 1500
2016 20000 ByRent [ 1900
2017 750 22250 | By Printing &
stationary 15800
To Donation for
pool 70000 | By furniture 45000
purchased on
1.1.2010
To Enterence fees 1950
(Capital) By sports machine 39000
By Misc Exp. 2500
To sale of News paper 1500 | Bybal c¢/d 14500
1,35,700 135700
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g (Information)

1.

15. @)

(ii)

C.D and E were partners sharing profits in the ratio of

a4 2016 %1 F=T T3000 37T 7 |

Subscription of 3000 is outstanding.

TR T 10% B e |

Charge deprecration on furniture at 10%.

N A9 & 1y Wifeq ST § ST i | (3)

Write the difference between sacrifices ratio and gaining ratio.

1 July 2016 %1 A, B & C ®izerd § %%% & ST &
el sfied &1 39 fafyr i B sTememt T80 &L O 7 | T oy i
S & T WA Sl T AL | 4

OnIst July 2016 A, B and C were partners sharing profit and losses

. ... 9 3.2 . : ,
istheratio if 10°10 10 respectively, On this date B retires. Cal-
culate the new profit sharing ratio and gaining ratio.

AL4T/Or

What is Revaluation account. How it is prepared. Write Journal
entries for preparing revaluation account.

AYAT/Or
11

5’3 and G fespec-

tively. The balance sheet of C, D and E ason 31 Dec 2016 are as follows:
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Liabilities Amt| Assest Amt
Sundary creditors 19000| Cash at bank 2500
Bills payable 5000| Debtors 16000
—500| 15500
Stock 25000
Reserve fund 12000 Motor vans 8000
Capital A/C Plant and Machinery | 35000
C 40000 Factory building| 45,000
D 30000
E 25000 95000
131000 131000

D retires on that date subject to the following adjﬁstment.

(1) Goodwill ofthe firm is valued at Z18000.

(i) Plant to be despreciated by 10% and motor van by 15%.

(i) Stock to be appreciated by 20%, and building by 10%.

(@iv) Thereserve for doubtful debts to be increased by 1950.
Prepare revaluation account, partners capital a/c and balance sheet of
the firm after C's Retirement.

D =1 Ireif WX STerhTeT TE07 T Ol € |

(i) AT =1 HedeRT 18000 ¥ foram ST |

(i) = T 10% TAT HIEX T 15% ! X W TG AR |

(iii) & Y FHIHT FT 20% TAT T FHT HITd I 10% Y 5 S |
(iv) STIT RO % T W= T T1950 B IR wgET R?

A W Y @I & D % TS TE o S i Tegl s |
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16.

17.

18.

19.

20.

Part-B
e Jamg faawo Tar 31 & Wi STl &l Sl Hifee | 2

What are the Primary objectives of preparing cash flow statement.

T STRR o Toemor s o 3599 aaisy | 2
Describe the objectives of preparing common size statement.
FHOT % foriar foeor 9 Fon sifirr €2 2

What do you mean by of financial statements ?

| T HEAT % =1 JIE 150,000 ¥ | A STAM 3:1 ¥ 3R vitw

ST 1:1 § | =10, Ftadl, el weafaal iR =i Sl oM Sife |
Current liability of a company is 150000. Its current ratio is 3:1 and
liquid ralis is 1:1. Calculate the values of current assets, liquid assets

and stock.
3
Or

=Te] SN 2:5, HEe YSit T60,000 B T =1e] TRfaat K =g
Il =l UM HIT |

Current ratio 2.5: Working capital 60000, Calculate the amount of
current assets and current liabilities.

11 g=reT 9§ Teha @Y STIUTd Hq hifer | 4
Calculate the gross profit ratio from the following particulars:

faa (Sales) F5,50,000

forsha a9 (Sales Return) 50,000

HIA ! @ (Cost of Goods sold) £3,00,000
19
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A/ Or
T SRSl | ISR STEd ST 1d e |

Calculate debtors turnover ratio from the following data:

54
RF IR (Opening debtors) 20,000
IUR fasha (Credit sales) 1,12,500
#fM 38R (Closing debtors) 25,000
s TR (Cash sales) 87,500

1= stisnel @ Here fhaei gr1 s yare ®i T Hife |

Calculate cash flow from operating activities from the following

figures:

Particulars 2019 2020
Debtors 50,000 40,000
Bills Receivable 10,000 12,500
Creditors 25000 20,000
Outstanding expenses 800 1,000
Bills payable 20,000 12,500
Profitand loss A/C 25000 80,000

3YEA/Or
= e1stl 9§ ke gaTe faervl TaR wifsu |

From the following information, prepare a cash flow statement.

z
YRf4e The 39 (Opening cash balance) 30,000
sifH Tshe 99 (Closing cash balance) 34,000

20
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@he4 § %! (Decrease in Stock) 16,000

<& faws %1 3fg (Increase in Bills Payable) 24,000

Tl TPt o TR (Sale of fixed assets) 60,000

SIEIHTCA T 1 ST (Repayment of long term loan) 100000

ElIEED Y& @ (Net Profit for the year) 4000
21
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